REDROCK

MOLLE PANEL FOR HEAVY
DUTY BED RACK

(UNIVERSAL TRUCK WITH BED RACK)

INSTALLATION INSTRUCTIONS

CONTENTS TOOLS REQUIRED

1) Molle Panel 5mm Allen Key/Socket
4) T-Slot Threaded Inserts Ratchet

4) M8 x 14mm Allen Bolts

4) M8 Lock Washers

4) M8 Flat Washers

1) 5mm Allen Key

—— — p— — p—

SKU # T604419



REDROCK

STEP1

it i

N e~ 7
Fit (4) M8 T-Slot threaded inserts into the bed rack T-Slot bars.

Use (4) M8 x 14mm Allen bolts, (4) M8 lock washers, and (4) M8 flat washers to secure the molle
panel to the bed rack T-Slot bar.

STEP 2

Ensure all molle panel hardware is fully secure.

Installation is now complete.



	T604419 - RedRock - Molle Panel for HD Bed Rack (Universal Truck)-01
	T604419 - RedRock - Molle Panel for HD Bed Rack (Universal Truck)-02

